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There are three sections A, B and C in the paper.

A9 T A o @e 1 & & 10 977 % SR G577 | I YT T 3% H 8 e
T} 10 T TG JHR F FoH & 8 |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

[3TReRaH 37 : 60
[Maximum Marks : 60
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Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words. '

Q7T 1 % 6 Fv 5 @ 567 4 71 3 IR Y | IAF FeT 8 3F FT 8 TG
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Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

e QI 3 T 5] H) FHAR T GrY 5T Hiford |

Solve all the questions of a section consecutively together.
a1 yryrsT & 31 517 B IR 8 3781 37 & A= &
Only English version is valid in case of difference in both the languages.
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SECTION — A
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(a)
(c)
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What is the source of Biomass Energy ?
(a) Wind _ (b)  Sunlight
(¢) Animal waste - (d) None of the above
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Wind & water energy resources are
(a) renewable , (b) does not produce air pollution
(c) Both (a) and (b) ' (d 'None of the above

(ili) SreTr S5 T HERH T % SN FT B AR 7

(a) & | (b) g

(c) gt 3T g bt oo (d) FHARETE

In petrol engine during suction stroke, what is used ?

(a) Air (b) Petrol

(c) Mixture of Air & Petrol (d) None of the above

(iv) SISt 39 H I G&TAT T HRUT §

(2) oS ST (b)  Fepreft g
(c) = (a) 3 (b) (@) A FETE
The reason of high efficiency in diesel engine is

(a) Compression ratio (b) Clearance ratio
(c) Both (a) & (b) - (d) None of these

(v) HREIHIgI R FNHRR ?

(@) IFAAIFE (b) R TH Heht
(c) e e H Hl d) THIAIG

What is function of venturi in carburettor ?
(a) Increase in air velocity ‘(b) Decrease in air velocity

(¢) Decrease in fuel flow (d) Increase in fuel flow
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(a) HH IR (b) e IR
(c) Toraws s (d) EETeTh TR
Where does the power for mechanical fuel pump come from ?

(a) Cam shaft (b) Crank shaft
(¢) Distributor shaft (d) Propeller shaft

(vii) T qfieror fepg soi o fore fpar ST & 2

(a) T & (b) S o

(c) wedl facist soM o (d) A HE

Morse test is conducted for which engine ?

(a) Petrol Engine (b) Diesel Engine

(¢) Multi Cylinder Engine (d)- None of these

(viii) 3 Y TiFrh g 8

ECANIE] Hehferd SfeRT

@) Gt ®) Swefw
our wifeRT Gehferd wifert

© Ffa afw @ oot

Mechanical Efficiency of Engine

A Brake Power Indicated Power

@) Indicated Power Brake Power

Friction Power : Indicated Power

(c Indicated Power (d) Friction Power

(ix) ‘ﬂ%—mﬁﬁmwwﬁmmwm% ?

(a) I vamR (b) & yETE

(c) e ST (d) T 8 RIE
Aeroplanes use which type of compressor ?

(a) Radial Flow (b) Axial Flow

(c) Centrifugal Flow (d) None of the above

P.T.O.
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(a) I T Tsefet (b) HAET FHAT
(c) W& HE (d) IR TR
The volume of air delivered by the compressor is
(a) Free air delivery (b) Compressor capacity
(¢) Swept volume ' (d) None of the above
Y — off
SECTION - B
YT ot UX ek wirw feoroht ferfea |

Write a short note on geothermal energy.

St o TR 3 TR —efiertofir Sat st s e |

Explain renewable and non-renewable energy resources.

3T & S 3 T aTg WiFeh <5k | SgeRT WA ohi [T1EC |

Write the assumptions used in air standard cycle for internal combustion engine.

2 Wik 3R BR Tk 3o | A TR |

Write the difference between two stroke engine & four stroke engine.

ATaTteh g Sor B GoeaTto & Sevd forfe |

Write objectives of supercharging in internal combustion engine.

aiaﬁaswémﬁrﬁﬁqﬁm%ﬁﬁmawﬁaﬁ%ﬁgql

Write different steps of Morse Test in internal combustion engine.
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What are the functions of Air Compressor ?

1238

3)
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Draw Carnot cycle with pressure-volume & temperature-entropy diagram, showing

various processes.

Qo —
SECTION - C
Frefefaa w ue ftre feoft fog
Write a short note on following :
(a) TS

Solar Energy
(b) T Sl

Wind Energy
(c) Slsén%ﬂ%m{'

Hydraulic Energy

FHI2! =I5k shY 1Y W GEIAT T T 1 G oYcd= HINT |

Derive the formula for finding Air Standard Efficiency of Otto Cycle. ,

oo o ) TETdT O SR S Ugiel SO o i hi SIS W |

Explain the working of four stroke petrol engine with neat diagram.

Tl & 9 B e T Tehr oh effsiehfer freen < samen #i |

Explain any one type of lubricating system used in internal combustion engine.
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3o Y 7T = 1000 rpm |

S U = 70 N-m

| mmmmﬂ%m

TI% = 150 mm

&R =100 mm

39 @Uq = 2.57 kg/hr.

cv =41000 kJ/kg

EIGEIER

(a) Hehicreh ATIIE Q&I

(b) S AT &

(c) e q&Ia

From a test on a four stroke pétrol engine, following data are available :
Engine speed = 1000 rpm

Brake torque = 70 N-m

Indicated mean effective pressure = 10 bar
Stroke = 150 mm

Bore = 100 mm
‘Fuel consumption = 2.57 kg/hr.

cv =41000 kJ/kg

Calculate :

(a) Indicated thermal efficiency

(b) Brake thermal efficiency

(¢) Mechanical efficiency 8
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Write a short note on following :

(a) IR HIT

Centrifugal Compressor 3)
(b) 7efiT HIW )

Axial Compressor 3)

(c) eTeh TR HUEK

Vane type Compressor v 2)
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